A Nickel Brik Redkana
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I've got a nick-el. Want to see? It’s a coin used as mon-ey. I've got a nick-el, to save or spend. I've got a nick-el. It’s worth five cents.
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1.'ve got a nick-el What's its col - or? It's  a bright and shin -y  sil - ver. Tve got a mick-el, to save or spend. T've
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got a nick - el. It’s worth five cents.
Verse 2 Verse 3 Verse 4
I've got a nickel. What’s its size? I've got a nickel. What’s it worth? I've got a nickel. It’s five cents.
It’s bigger than a penny or a dime. It's five cents, haven’t you heard? Pennies are a single cent.
I've got a nickel, to save or spend. I've got a nickel, to save or spend. I've got a nickel, to save or spend.
I've got a nickel. It’s worth five cents. I've got a nickel. It’s worth five cents. I've got a nickel. It’s worth five cents.
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Five nick-els e-qual one quar-ter. A quar-ter is twen-ty-five cents. Twen-ty nick-els e-qual one dol-lar. A dol-lar is one hun-dred cents.
Verse 5

I've got a nickel. What’s on one?
President Thomas Jefferson.

I've got a nickel, to save or spend.
I've got a nickel. It’s worth five cents.

Outro



